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sin 34° cos 236° — sin 56° sin 124°
cos 28° cos 88° + cos 178° sin 208°

H HA |5, BRI UH IR ?

%.? (a) -1
(a) -2 (b) 0
b -1
P | (e) 1 1
dy 1 : d 2
2. m,waﬁﬁmmaﬁmﬁmmmwsﬁmoz(a?)yﬁ%ﬁwﬁnﬁﬁaw
29 ﬁanaﬁﬁq:
(@) S +es? Ig foa T R i cos @-a)=a, cos @-PB) =D
sin 9° — cos 9° . %l
) Sn%-cos9

ML " |8 cos(a-p)fored w2 7
cos 9° + sin 9°

) =
cos 9° — sin 9° (@) ab+ {1-a2 1-b?

e - -
cos 36° _ * () ab-y1-a2 Jl-b3
3"#3"#37#03 (Fﬂ#)mf*mmw (c) _aJl_ba _bJ]__.az
farem #ifore : ; -
: . 2 2
"~ AR p=XcosO-Ysin0,q=Xsin0+Y cosB @ ay1-b +byl-a )
. 3R 1:02-l-flpi:;+q2=1§.}{2 + BY? g, =l j

|7.  sin® (x—B) + 2ab cos (o B) ek s & 7

e m
0sos > 21
8. OHUATE? (@ a+b?
(a) g ®) a’-b?
% (© b?-a?
(b) § :
@ -(2+bd)
(©) }
. |8. 3R sin o + cos a = p B, A cos® (200) FFTH
@ 3 TR ?
4. AFAARR? ' R,
g (b) p2—1
®) 3 i
¢ 2 (c) p“2-p9)
@ 1 @ p’+1
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] 1% What is the value of 5. What is the value of B ?
sin 34° cos 236° — sin 56° sin 124° 9 Gy =3
cos 28° cos 88° + cos 178° sin 208°
(a) -2 ® 0
b)) -1 ey L
w2 ' @ 2
) 1 i

2.  tan 54° can be expressed as Consider the following for the next 02 (two)
sin 9° + cos 9° items :

@ ino s
It is given that cos (6 — a) = a, cos (6 — ) =b.
sin 9° — cos 9°
h) - ——————————
: sin 9° + cos 9°
6. What is cos (. — f) equal to ?
© cos 9° + sin 9°
cos 9° — sin 9° (a) ab + ‘1—82 ’1—b2
@ Sin3e | .
cos 36° ®) ab-1-a? J1-1b2
Consider the following for the next 03 (three) (© ay1-b? —by1-a’
items :

Ifp=Xcos0—-Ysin0®,q=XsinB+Ycos
and p? +4pq+q®=AX?+ BY? 0<0< =.

(d) .a\fl-b2 +by1-a2

What is sin® (o — B) + 2ab cos (o — B) equal

2 2
to 7
What is the valueof 8 ?
(a) i o e
T - :
®d = ; :
B (c) br=a®
@ = '
4 @ -@2+bd)
i ;
(d) 3 If sin o + cos o = p, then what is cos” (2a)
What is the value of A ? ol ia?
: : 2
oy (a) p
s ® p-1
i © pA2-pd)
C
o (d) p2 o
EDF-S-DGV (3-C)



9. sin‘li;~+sec‘1-g~f HUE R 2 12.
T
(8) Z
b r
(b) )
€ =
d o0
. 11-q2 S 0 k.
10. 3If gin ' 2P _ - 08 Eoa = tan
1+p? 1+q? 1-x?% |18.
2, @ x frmd soat 2 2
@ P*4
1+pq
; 1+pq 14.
e P
1+pq
@ R2*d
1-pq
1 1 -
8 Om = == %
1 aﬁtag 2 3K tan ¢ 5 2 I?ﬂ(6+q))iﬁT 15.
TR 2
(a) 0
T
(b) 3
o
(c) I
T
(d 5
EDF-S-DGV (4-C)

@

e cos A = % '3','Fﬁ sin[%) sm[s—é] &l HH

2
®R?
(a) g
(b) -1%
© =
@ 575 |

tan 75° + cot 75° 1 W 94T & ?
(a) 2

b 4

(0 243

43

cos 46° cos 47° cos 48° cos 49° cos 50° ...
cos 135°

FATFR?
(a) —1

(b)) 0

@ 1

@ 1% Al

afasinze=mae,ws’f0<e<g%,ihsme
s s # 2

@ J'5_4+ 1
(b) J_ﬁ—;l
© ‘/5_1; 2
@ '—JET;—I
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WRRE T ! 5
9. What is the value of sin 3 + sec 4 g ?
( x
a) %
0
‘ 2
(¢ m
d 0
' 2
10. If sin™ . 8—11;(1_2_ = —li,
1+p? 1+q 1x?
- then what is x equal to ?
(a) pP+q
: 1+pq
o 22
1+pq
o B
1+pq
W RIS
1-pq
11. Iftan 6 = % and tan ¢ = %,t.henwhatisthe
value of (6 + @) ? K
(a) O ' '
T
(b) 5
-
(c) 2
3 X
(d) 3
EDF-S-DGV ;

12.

13.

14.

15.

(5-C)

If cosA= i then what is the value of
[A) : (SA) 5
sin| — | sin| — | ?
2 2
5
(a) E
5
5
(C) a
7
d L
() 32

What is the value of tan 75° + cot 756° ?

(a) 2

(b) 4

© 28

@ 43

What is the value of

cos 46° cos 47° cos 48° cos 49° cos 50° ...
cos 135° ?

(a) -1

(b) 0

© 1

(d) : Greater than 1

If sin 20 =cos 30, where 0<9<g, then
whatis sin® equalto?

+1

(a) ¥6 m
© ‘(5_1; .
@ %
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16. 3T 25, -125, 625, -3125, ... ¥ ndl 9g F1[19, f A={xeZ:x*—-1=0 a3k
_%? B=(xeZ:x>+x+1=0)28, & z oy
(a) (-5yF! HEATSA H W= R, @ A N B e s ? 0
) (12 5et (a) T wg=g
(©) (_1)2n—15n+1 (b) {—IZJgi’ —1'—2‘J§i}

n-1 .n+1
@ n™~'s % {-—1+J§i —-1—J§i}
4 " (R 4

17. 77 AT X =(1,2,3, 483N R X W= B

WU IMRR=(1, 1,292,683 02, @ {“23’, 1_23‘}
(2, 1),(2,3), 3, 2) 8, @ Fefafea § @ S
THHE R ? 20. 3 g wg=El A 3R B ¥ R Prfifea
(@) - R g o wafia B, g s | P W RER AR

? . 1L (ANBJUMANB)U(ANB)=AUB
() R ®afim ik wwmas ¥, g @gen T8 2. (AU(ANB))=AUB

2 e IR et i @ P ad A 2
(© R &g iR dwms 2, frg wufta T (@ Faa1

2 ®) Faa 2

- (© 13k 23
(@) Rﬂ?r;agmtaﬂﬁﬁamt,ﬁa S s
21. W e X % siftaa v & ok oM ofifig

18. @iyt FE & FY=A N W ©F d69 R @ %Cmﬂﬁﬂﬁgmilﬁnﬁﬁa

TSR & TR R 6 xRy = x2 - 4xy + 8y2 =0 1' :tc B'
2, < e % e o 2 e )
(8) REIH AR wfia R, frg wepme et 2. (AnB)c(CnB) W B wg=Ri ¥ firg
t _ =AcC
o 8. (AUB)c(CuB) ®ft B gl &
) R T@ge AR whe R, frg wafta = =>AC_CC o
? | g wol f A A wd ¥ 2
() R TEged, wufia 3R dme (a) aw 132
d) R &g 8, g ag 7 ot waftm & 3k = ® ¥ zahs
& G 2 (¢ aw13ik3
@ 1,233
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16. What is the n™ term of the sequence
25, -125, 625, -3125, ... ?
W -5
17. Suppose X = {1, 2, 3, 4} and R is a relation on
X IfR={1,1),(2,2),3,3),1,2),(2,1),(2,3),
(3, 2)}, then which one of the following is
correct ? '
(a) R is reflexive and symmetric, but not
transitive
(b) R is symmetric and transitive, but not
reflexive
(c) R is reflexive and transitive, but not
symmetric
(d) R is neither reflexive nor transitive, but
symmetric
18. A relation R is defined on the set N of natural
numbersaany:;kz—4xy+3y2rl0.Then
which one of the following is correct ?
(a) R is reflexive and symmetric, but not
transitive :
(b) R is reflexive and transitive, buf not
symmetric
(©)  Ris reflexive, symmetric and transitive
(d) R is reflexive, but neither ﬁymnietric nor
- transitive . ;
EDF-S-DGV

19.

21.

(7-C)

i {1+J§i, 1-J§i}

IfA:{er:xa—lzﬂ} and

B={[xe Z:xX> + X+ 1 = 0}, where Z is set of
complex numbers, then what is A N B equal
to?

(a) Null set
) {—1+J§i’ -1—J§i}
2 g

{-1+-J§i —l—ﬁ_i}
(c) : 1

4

2 2

Consider the following statements for the two
non-empty sets A and B :

1. (ANB)UANB)U(ANB)=AUB

2. (AU(ANB))=AUB

"Which of the above statements is/are correct ?

(a) 1only
(b) 2only

() Both'land2
(d) Neither 1 nor 2

Let X be a non-empty set and let A, B, C
be subsets of X. Consider the following
statements : '

1. AcC=((ANB)c(CNB),

(AUB)c(CUB)
2. (ANB)c(CNB)forallsetsB=AcC
3. (A_UB)C(CUB)fora,llsetsB:&ACC
Which of the above statements are correct ?
(a) 1and2only ¢
(b) 2and 3 only
(¢) 1and3only -
d 1, 2and3



0 0 -
(b) 0 0 -1
o o 8
0 0 2
(c) g9 1
, 0 0 0
(@ zaH A T8 2

T |x® - x—6| =x+2 S YA T E ?
) -21.4 '

b) 0,24

¢ 0,1,4

@ -224

ﬂﬁA:[{; ;] %,a’tma[sA%r

(a) ITSIHAY AR
(b) e e
(c) ?Eﬂﬂ'l'a’fm
(d) IEH AR

x -3 1

IR [y 1

0 2

-1
T A F1E ?
(a) -3,4

(b) 3,4

(c)
(d

EDF-S-DGV

26.

27.

28.

i|=6+11 ®, @ x3myH| °

30.

(8-C)

wqfieTolt 23 + 222 + 22 4+ 1 = 0 30
220174208120 Fud gm ¥

(a) -l,o
® 1,0°
© -1,0°
@ o

Ifd C(20,n +2) = C(20,n —2) B, @ n FFES
TR B ?

(a) 8

(b) 10

c 12

d@ 16

T waaa W 10 farg & | 37 fargedi A @ i oft
o g v e T § 79 ¥ | 39w el
) g den R & S Riegall B e
TS ST Fhell & 2

(a 90

b) 45

© 40

(d 30

aﬁ(b,mpx2+qx+r=0(ﬁﬁp,q,r
off g §) & fm aafes g@ €
freaffga i asm s wdt 2 2

(a) a>0,b>0

(b) a<0, b<0

(¢ a>0,b<0

(d a<0,b>0

AR A=, 0 ph R, A AS UE TgE (ST
&) R :
(a)
®)
(c)
@

{9, (o}, (A}, (&, u}}

{0, (A, (A, b}, (A, pl)
{0, (AL, (A, b, A, (A, ui}}
{A, (A, pd, A, A, i}




.20
22. If B=|2 4 0|, then what is adjoint of B
SR =y
equal to ?
[0 g -4
(a) 0 0 0
=B = 1 8
0 0 -2
(b) o 0 -1
0 0 8
.o 0o 2
(c) 040 1
0 0 0
(d) It does not exist
23. What are the roots of the equation
|x®-x-6] =x+2?
(a -2,1,4
b 0,24
e 01,4
@ -2,2,4
0 1
21 If A=[1 0],then the matrix A is a/an
(a) Singular matrix
(b) Involutory matrix
(¢) Nilpotent matrix
(d) Idempotent matrix
x -3 1
95. Ifly 1 i |=6+11i,then whatare the
0 2i -1
values of x and y respectively ?
(a) -3,4
(b) 3,4
¢ 3,-4
d -3,-4
EDF-S-DGV

27.

(9-C)

of the equétions
2017 + z2018 +1=0

The
z3+2z2+2z+1=0andz

common Troots

are
(a)

(b)
(c)
d o o’

-1,

1, 0>

-1, 0>

If C(20, n + 2) = C(20, n — 2), then what is n

equal to ? ' :
(a) 8

(b) 10

() 12

(d 16

There are 10 points in a plane. No three of
these points are in a straight line. What is the
total number of straight lines which can be
formed by joining the points ? -

(@ 90 '

(b) 45

(c) 40

(d 30

The equation px2 +gx+r=0(wherep,q,r, all
arepositive)hasdiatinctrealrootsaandb.
Which one of the following is correct ?

(a) a>0,b>0
(b) a<0,b<0
(¢ a>0,b<0
) a<0,b>0

IfA={A, A pnl, then the power éet of Ais

@ (0, ), A, A, uh}

) {6, (A, (A, ul}, LA, i)
© o, (A}, A, wl, A, A, il
@ (), A, puh @, @, 1l




31.

32.

- 35.

EDF-S-DGV

(d)

ﬂﬁmx2+px+q=0%"ﬁtan19°3ﬂ'(
tan 26°%,ﬁﬁﬂﬁiﬁiﬂﬁﬂm-m@¥lﬂ
22
(a)

(b)
(c)

v % oA
+ +
1] I

1
1
2
3

»Q-Q-D"U
]

n Y& aelt T AP fEd W W e
nn+ 1), FANMITFTR?

(a) - 6

Mb) 8

e 12

d 20«

(1+tanatanB)2+(tana tan B)? —

sec” o sec’ B

forgeh sUat & 2
(a)
(b)
(c)
(d)

N = O

Ifé p = cosec 6—cot 6 3R q=(cosec 6 + cot 6)
2 AR idshawad ??

(a)
(b)
(c)
(d)

pa=1
p=q
p+q =1
p+q=0

If2 ww Bys ABCH #1071 1:2: 3% U@ #
‘E?hwmmﬁ?amamﬂ?

(a) 1:2:3

b) 8:2:1

(c) 1:4/3 :2

@@ 1:43:42

(10-

36. fr=fefiga FoFl W ffan Hifvw

1. @ Y R wfiew, Tia e F
xcos®+ysin@=p é, R &g (o, B
¥ @R M dw  H e
|acos@+PBsin6+p| B I

2. fog @, p @@ —+——1qua°i%TTQ i

< i ——?21*;?" ¥
I HeEl o A B T E 2
(@ FEE1 |
(b) *a 2
© 1323
@ TN, T@2 )
37. UH IW 2 +y> = a’ Hi Th Sal Hl TH TR

T 3w T R | 3 e, Wi x4y =a W
fRat g w2

(@ X’ +y’—ax—ay+a =0

b x*+y’-ax—ay=0

(c) x2+y2+ax+ay=0

@ x*+y’+ax+ay—2a>=0

Sy




31. .Iftherootsoftheequationxz+px+q=oa_re
tan 19° and tan 26°, then which one of the
following is correct ?

(a q-p=1
(b)) p-q=1
() p+q=2
(d p+q=3

82. What is the fourth term of an AP of n terms
whose sum is n(n + 1) ?
(a) 6
(b) 8

© 12
(d 20

83. Whatis

(1 + tan o tan B? + (tan o — tan ) —
seczaseczﬂ

equal to ? -

@ O

(b) 1

© 2

d. 4

34, Hp:msecﬁ—wtﬂandq=(cosece+oot6)_l,
then which one of the following is correct ?
(@ pa=1 .
®) p=gq
(¢ p+q-=1
d p+q=0

35. If the angles of a triangle ABC are in the ratio
1: 2 : 3, then the corresponding sides are in
the ratio
(a) 1:2:3
d) 3:2:1 ‘
© 1: v3 :2
@ 1:43:42

EDF-S-DGV

36.

37.

(11-C)

Consider the following statements :

1.  For an equation of a line,
x cos O + y sin 0 = p, in normal form, the
length of the perpendicular from the
_point (a, B) to the line is
|o.cos © + Psin 6 +p|.
2. The length of the perpendicular from
the point (o, P) to the line §+%=1 is

ao + bp —ab

1!:12 +b? j

Which of the above statements is/are correct ?

(a) 1lonly
(b) 2only
(c/ Bothland?2

(d) Neither 1 nor 2

A circle is drawn on the chord of a circle
x2+y2=a2asdiamet.er.Thechord]iesonthe
line x + y = a. What is the equation of the

circle ?

(8 xX*+y -ax—ay+a =0
(b) .x2+y2—ax—ay=0

© x*+y’+ax+ay=0

@, +y’+ax+ ay —2a”=0

e




38. @aﬁqamﬁwﬁﬁgﬁmiﬂﬁwﬁ I @ 3y + 4x =1,y = x + 5 3N 5y + bx = 3

AMTHA A= 7 IR Tg T 2 o E, A b F AR TR 2
(a) Y 7Y I TS H - Gy &
b) HAmHT=EF b 3
() ifuea i ovad & (0 6
@ e ot endey el H = B @
AT % 2

39. wifte 2x®-3y?-6=0 ﬁaﬁaw% 43. 39 W Y@ F @HEO Ny = x W o

Ral @, A et 2
(a) THId

(a) x-y=5
‘(b) T WETE !

=5

() qa;'(ﬂdqﬂ . (b) .x+y
@ T e Bl Xey=l

d =x-y=1

40. aWyz=4ax3‘n'( x2=4ayﬂﬁﬁﬁg |

(a) @1 y=x W@ frgail W 4. TAWE x+y-4=0,3x+y—4=0 3N

x+ 3y~ 4 =0 0% frys w7 & e figw

b) Faa g@-fg W , :
© Ao dwysx-ow| @ WIgR
Rt (b) TEHIY &

(d) Had (4a, 42) T 3 r
0. R, e ), I s mga | @ R

Tl iddary- 2x+ctafamiacw . .
45. FUx®+y%+4x— Ty +12 = 0 GRI y-318 T HIA

AR ? Lt
T T 3a: ©S s sua ? 7
(a) 2
: (8} - %
=9
L ; b)) 3
(c) 4 : © 4
d -4 ‘ @ 7

EDF-S-DGV (12=e)




38. The sum of the focal distances of a point on an | 42. If the lines 3y + 4x = 1, y = x + 5 and

ellipse is constant and equal to the 5y + bx = 3 are concurrent, then what is the
fb?
(a) length of minor axis yalus
. ] 1
(b) length of major axis (a) _
(b) 3
(¢) length of latus rectum
6
(d) sum of the lengths of semi-major and o
semi-minor axes 1
(d) 3

| . What is the equation of the straight line which
39. The equation 2x” — 3y> — 6 = 0 represents o e e T Y
: _is perpendicular to y = x and passes through

(a) acircle ‘ 3,2)?

(b) a parabola . : . () x-y=b

(c) anellipse | - F @) xEy=5

(d) ahyperbola © x+y=1
| @ x-y=1

40. The two parabolas y2 = 4ax and x° = 4day
intersect :

: : L 44. -Thest:ra.ightlinesx+y—-4=0,3x+y—4=0

(a) attwo points on the liney =x { s
‘ and x+3y-4=0 form a triangle, which is

" (b) only at the origin
(a) isosceles
(¢) at three points: one of which lies on

yEERD : (b) right-angled

(d) only at (43., 4a) © i

41." The points (1, 3) and (5, 1) are two opposite ~ (d) scalene
vertices of a rectangle. The other two vertices :

lie on the line y = 2x + c. What is the value of 45. Thecirclex2+y2'+4x-7y+12=0,cutaan

ey
5 intercept on y-axis equal to
(a 2
(a);
-2

5 b 3

( 4
(c) Py

d -4 y
il ' a 7

EDF-S-DGV | (13-C)




ST ST ATt 02 (1) ww & fore Raferfe ut| 49,

fareme #ifae :

freft foremera #, wht o A s W Al (R
) — A, W IR ad T § 4 FuA-HH
T @d & | 60 B YAl ded 8, 50 dua f
TAd &, 48 FH Wed g, 12 TalS AR I QAT
Tad & 15 W Ik dmw Ww I |ew §,

20 39 ¢fE 3N ot 1 Berd # |

46. fomem # oEl 6t IEaw FEm w0 A G | 50.

2?

(a) 123
(b) 111
(c) 95

(d 63

47, frawm § oE © st den el @

Tt & ?
(@ 111
(b) 123
() 125
@ 135

48. aﬁ-Amaﬁwmmaaiﬁ

| FEHIEES Sl (A7)
(a) YA IR HwwE
(b) A% S &
(¢) 38AS U B

(@ 1 Afere TE 8

EDF-S-DGV

51.

52.

(14-C)

A, e 3 F 3W YHER & TH i ’egE & 6
% e W TH 4 § | 3% wREd &
ARfUT 1 9= 941 8 2

(a) 64

(b) 36

(© 32

d@ 4

6 Tl R 4 At d |/, w watew
5 SRl @t Well T I1EaT @ | 98 e TR
| o s wwar @ aif% s9daw & e
1w s A 2 |

(a) 209

(b) 210

() 246

d 242

[(2x - 3y)® (2x + 3p)%® ¥ faww # w3 H

T TR ?
(a) 4
® 5
) 8

@ 16

(1+a§)“%ﬁﬁﬂtﬂ, TE i 9g AN 1, 12x
i 64x>% | n e T R 7 :

(a) 6 A

(b) 9

(0 10

@ 12




Consider the following for the next 02 (two) |49.
items that follow :

In a school, all the students play at least one of
three indoor games — chess, carrom and table
tennis. 60 play chess, 50 play table tennis, 48 play

carrom, 12 play chess and carrom, 15 play carrom

and table

tennis, 20 play table tennis and chess.

46. What can be the minimum number of students o
in the school ?
(a) 123
(b) 111
() 95
d) 63
47. What can be the maximum number of
students in the school ? 51.
(a) 111
(b) 123
() 125
(d 135

48. If A is an identity matrix of order 3, then its | 5o
inverse (A™)

" (@)

(b) isequaltoA

(c) isequal to 3A

(d)

EDF-S-DGV

is equal to null matrix

does not exist

(15-C)

A is a square matrix of order 3 such that its
determinant is 4. What is the determinant of
its transpose ?

(a) 64
(b) 36
() 32
da 4

From 6 programmers and 4 typists, an office
wants to recruit 5 people. What is the number
of ways this can be done so as to recruit at
least one typist ?

(a) 209
(b) 210
(0 246
@ 242

What is the number of terms in the expan_siﬁn
of [(2x - 3y)® (2x + 39)41° ?

(a) 4
(b) 5
() 8
(d 16

In the expansion of (1 + ax)”, the first three
terms are respectively 1, 12x and 64x%. What
is n equal to ?

(a) 6
() 9
() 10
d 12



53.

deand 1, 5 3 25 A g (FAFE TG A BT
A &) & Thd &

(a) 94 TH AP S

(b) TH A fes s ufifia gen § APs &
(0 srafifir dE i APs %

(d) uftfia @@ & GPs &

freht AP & (p + @)F 3N (p — A W& F1 ATHA
R 2

(@) (2pd 9%
b) (2QF"/H
© pARHFTASD
@ dRFTAS

A A HR n>1H @ T A R, A
fafafga d a SRw ws adi R 2

(a) det(—A)=detA

(b) det(-A)=(-1)"detA

() det(-A)=-detA

@ det (—A)=ndet A

EDF-S-DGV

25 cosec’ x + 36 sec’ x H AW WH FT| .

22

(a) 1
() 11
() 120
(d 121

(16-C) *

e ,_MW

Tt 3 JTe 02 (F1) ¥ ¥ fore At w
faram #ifero :

wm i A 3R B, 3 x 3) g ¥ wal
det A=4 3N detB=3 2 |

57. det (2AB) forud sTa & 2
(a) 96
(b) 72
(c) 48
d) 36

58. det (3AB™) forereh T 2 2
(a) 12
(b) 18
(c) 36
d 48

amt A e 02 () weAt ¥ forg Rt @
faram #ifere :

wH afdy e W oyErn @ i 2
. ... S
S 1-a-i?

59. 2z W9 T8 ?

(a) 4
b 2

@ 1

1
(d) 2

60. z 1 T&T HIVIH 1 2 ?
L

b
(b) 1

T
(C) -5
@@ =




The numbers 1, 5 and 25 can be three terms
(not necessarily consecutive) of

(a) only one AP
(b) more than one but finite numbers of APs
(¢) infinite number of APs

(d) finite number of GPs

The sum of (p + q)th and (p - q)th terms of an
AP is equal to

(@ @p* term
®) (29™ term
(¢) Twice the pth term

(d Twice the qth term

If A is a square matrix of order n > 1, then
which one of the following is correct ?

(a) det(~A)=detA
() det(-A)=(-1"detA
(© det(-A)=—detA
d det(-A)=ndetA

What is the least  value of
25 cosec” X + 36 sec’ x ?

(a) 1

(b) 11

(© 120

d 121

57.

EDF-S-DGV : ) (17

-£)

Consider the following for the next 02 (two)
items :

Let A and B be (3 x 3) matrices with det A = 4
and det B =3.

What is det (2AB) equal to ?

(a) 96
(b) 72
(c) 48
(d 36

What is det (3AB™) equal to ?

(a) 12
(b) - 18
(c) 36
(d 48

Consider the following for the next 02 (two)
items : ;

A complex number is given by z = —-ﬁl—z .
1-(1-1)
_What is the modulus of z ?
(a) 4
(b) 2
) .1
1
d e
(d) 5

What is the principal argument of z ?

(a) O
b1

(b) i
T

(c) :‘3_

d =




62.

e i %+5=o &1 9% & 1
y
22
(a) x2+y2=c
b) x*-y?=c
(c) 12+y2=cxy
d =x+y=c
; i #0
kS TEATRIE N fm=1
k x=0

x = 0 9 G &1 8 ?

fa). 2
d 1
(e -1
d o0
63. a’x + bZy P <N WH, T&l xy = 28, T2 ?
(a) abe
(b) 2abe
(c) 3abc
(d) 4abe
64. I &M@ gy forah STt R 2
ax
(a) n(@) +c
ex
(b) Tt +cC
ex
© In(ae) i
ae*
(d) In@ +e
EDF-S-DGV

65.

67.

@

. h....-.,_a--.'-—-«wevmmm
?

(,’7-4;‘7"'"‘" = ‘*q,m‘md‘_
- 1 qc,h‘t‘..

aﬁy:pshxﬁx—ﬂ%‘ﬂiwww
(F[9) 1 SABA F R ?

(a) ¢

(b) 2¢
(c) 3e
4c

;ﬂﬁ sin 6 + cos 0 = /2 cos 0 %, ar
(cos © — sin 0) forees Fq=T 2 2

~ 2 cos®

~V2sin@

V2 sin 6

2sin 6

(a)
(b)
(c)
(d)

T g foEe AW 44 om B, 396 @ S H

. TS 22 cm R | e <t &g =19 b g

27

(a) é—sjcm

21

242
21

121
21
44

7!31!1

(b)

(c)

(d)

68. wﬁm‘e:--aﬂttane_ 1 ‘B o form

(18-C)

gt A w7

(a) ToIH

b fedfa



61. What is the general solution of the differential | 65.
equation %+§=0 . &
(a) X2+ y =¢
b x*- y2 =¢
© xX+ y2 = CXy
d) x+y=c 66.
62. The value of k which makes
sy x=U
f(x)= { continuous at x = 0, is
k x=0
(@ 2
b 1
@y =1 '
67.
M) 0
63. What is the minimum value of a’x + bzy
where xy = 2?
(a) abc
(b) 2abe
(¢) 3abc
(d) 4abc
64. Whatis I e*""® 4x equal to ?
ax
(a) In@) +c 68.
ex
(b) n@ +c
X
e
e
ae®
(d) n@) +c
EDF_-S—DGV - (19-C)

What is the area of one of the loops between
thecurvey=csinxandx-axis?

(@ c

(b) 2c
(c) 3c
(d) 4c

If sin@+cos®=+v2cos0, then what is

(cos © — sin 0) equal to ?

(@) - +2cos0
(b) - V2sin®
(© 2sin®
(d 2sin6

In a circle of diameter 44 cm, the length of a
chord is 22 cm. What is the length of minor arc
of the chord ?

484
(a) 21
242
121
(c) E cm
44
d S8
(d) 7
Mol 05— = andiun b= -, thonih which
. 2 J§ >
quadrant does 0 lie ?
(a) First
(b) Second
(¢) Third

(d) Fourth




69. 3% 1,2, 3,4 3 5H TN Fh A 37 Hl

70.

71.

72.

EDF-S-DGV

frat g9 @Al SR S Gdl 8, S|fh 3
1 gaughe i A 787§ 2

(a) 36

() 30

() 24

@ 12

h 18 6w HHR F wE fag AR, A |
e & i o & 8, I Fior xR AR |

fig B, A AT M@ AR, A wwr y

2 |!IﬁAB=z%,a’rﬁ1=|ﬁ~Tﬁiaﬁ%aﬁ=l-mnai_

TR ?

(a) h? (cot? y-— cot? x) = 2°

(b) 2 (cot? y- cot? x) = h?
(¢ h®(tan’ y- tan x) =27
@ 2 (tan’y - tan®x) = h?

e H T ¥y @fa W e
Sd E | Siggd Id % U SER1 84 i Wiiiehar
FR?

(a)
(b)
(c)

(d)

g2 A 3R B @ wead W YR & T
P(A) =05, P(B) = 0-6 I P(ANB)=04 &, 78
P(AUB) foras st 2 2

(a) 09

b)) 07

(c) * 05

@ 03

73.

74.

75.

(20-C)

. (a)

“(b)

- T T T TR

e e A R A, B 3 c R S
R WeT B B O Y TR %

%miiluﬁ%mﬁﬁdﬂmﬁwaﬁ

A H 8 al 39 =1a i yiiesar #= @ f6 yw
1 g fae sme 2

29

32

27

32

25

32

23

32

fisqe ol % s gW w Her (FeHET) S
¥ | 5% IR F w1g 9@ 9% 3§ & @ 39 @ H

(a)

(b)

(c)

(d)

 wifiehar T & fo6 qER U % e H AH ded
U % Hersh b °HE A R 2

(a)

(b)

(c)

Slon Blov @I= alm

(d)

s frsqy R &) 3o = it ey § oy
U ARG 9 W el TR | o o ¥
HYUHY 2 AT 4 91 6 UTH H Sl Wiihar w1

2?

(c)

D= b= W= N

(d)



R

9. How many three-digit even numbers can be|73.
formed using the digits 1,2, 3, 4 and 5 when
repetition of digits is not allowed ?

(a) 36 -
(b) 30
(0 24
d 12
70. The angle of elevation of a tower of height h
from a point A due South of it is x and from a
point B due East of A is y. If AB = z, then
which one of the following is correct ?
(@ h(cot?y—cot’x)= 22
®) 2 (cot’ y — cot? x) = h?
(o) h? (tan® y - tan? x) = 22 74.
@ 22 (tan’y—tan’®)= h?
71. From a deck of cards, cards are taken outlwith 1
i replacement. What is the probability that the.
fourteenth card taken out is an ace ?
1
(a) -5—1
4
(b) 51
1
() E
75-
i 1
&)
.( ) 13
72. If A and B are two events such that
P(A) = 05, P(B) = 0-6 and P(A N B) = 0-4, then
whatis PCAUB ) equal to?
(a) 0'9 ¢ ¢
® 07 i
~ (e 05
(d 03
EDF-S-DGV (21-C)

(@) %
® %
© %
@ :

A problem is given to three students A, B and -

C whose probabilities of solving the problem
are 2 - .. and
2 4
probability that the problem will be solved if

they all solve the problem independently ?

@ =
®» =
(c) %
@ =

A pair of fair dice is rolled. What is the
probability that the second dice lands on a

higher value than does the first ?
(a) 1—1{ :
() %_
- (e) Tsi
@ -15—8-

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head?

L respectively. What is the .

B




76. A2, -3, 3), B, -3, - 4) 3 C(2, -3, -2) ¥ (80. 3701 % Rewwrares = & 2

T T B # Fww e g R e k )i ®Liis
(a) (-3,3,-1) : . M <1,00>
(b)) @G,-3,=1) © <0,1,0>
() (3,1,-3) d <0,01>
(d (3,-1,-3)

81‘2‘%?=?—2§+5A3ﬁ'{?=2;+3—3£
77 M’ +y" 42— 6x+8y-10241=0F| 3@ (D-2).37 + T ) P Tua 2 2
w2

(a) 106 s b L
Sl " (b) -106
s © 53
(&) 7 @ . —8
@ 3

T 82. IR fagali A 3k B & R sRw
78. WHAS! 2x +y +22=9 AN dx by —4dz=1% 8i-2j+kattal+aj-skd o AB
wfreded ot R 8, 2, D A T T WA | oy s w2 '
1 Teffentor =T R 2

(@ 14
a 10x -2y + 2z =28 :
i i b)) J29
(b) 10x+2y+2z=28

(© 43
() 10x+2y-2z=28

d 53

d 10x-2y-2z=24

79. WU WA 4x - 2y + 4z + 9 = 0 3|5 T @ wwww g ABCH, FhAC=p R, A

- i =2 = =) =) =) S0,
Bx-4y+8z+21=0F A A g w2 ~ AB . AC +BC .BA + CA . cCB fra%
1 ' | TR 2 ? |
(a) I ; |
@ p° : eﬂ,ﬂ‘\'
@l = )
% ® 2p? ~,0¢)
3 2 G,o e
2 © = 0 s
2 A B
7 ac
e @ p e
. M
EDF-S-DGV | (22-C) P




76. The centroid of the -triangle with vertices | 80.
A2, -3, 3), B(5,-3,-4) and C(2, -3, —2) is the
point
(a) (-8,3,-1)

b (3,-3,-1)
© B,1,-3)
81.

77. What is the radius of the sphere
x2+y2+zz-6x+8y—-102+1 =07
{a) 5
® 2
© 17
@ 3

82.

78. The equation of the plane passing through

the intersection of the planes 2x +y + 2z = 9,
4x-by—-4z=1 and the point (3, 2, 1) is
() 10x-2y+2z=28
(b) 10x + 2y +22=28
(¢) 10x+2y—2z=28
d 10x- 2y —2z = 24
The distance between the parallel planes
4x'—2y+4z+'9=0and8’x—4y+8z+21=0 as
is -
1
(a) Z %
1
(b) 3
3
(c) 3
7
D -
(d) 4
EDF-S-DGV (23-C)

k;),,brj,gcf) (e S,\b-‘ic’

Y s B

What are the direction cosines of z-axis ?

@ <14,1,15
b <1,0,0>
e <0,1,0>
d <0,0,1>

= A A A e o A A A
Ifa=1-2j+5kand b =2i+) -3k
- -

then whatis (b — a).(3a + b )equalto?
(a) 106

(b) —106

() 53

@ -53

If the position vectors of points A and B are

A A A A A A
3i -2j+kand2i +4] — 3k respectively,
—
then what is the length of AB ?

@ 14
® V29
(¢ 43
@ 53

: \
If in a right-angled triangle ABC, hypotenuse

AC = p, then what is
R A ... -
AB .AC + BC . BA + CA . CB equalto?

(a) p2
®) 2p°
2
P
(c) 2
d p




84.

EDF-S-DGV

a2 =21-63-3k st B=43+3}_ 1
& 9 ¥ BT BT G (sine) B

(a)
(b)

(e)

g?l"‘ g"” Q{m §|1—!

(d)

Ao g8 owH T @ e fou aRRw
37 +4?—E.@IH‘&H—2?+A?+IO£
Fi?ﬁﬁ[%?.

(a 1

(b)_2

() 3

d 4

x % A secz(tan"lx)ﬂi!a\_{?qiwg'?
(a) 2x
) x*+1
x+1

(c)

@ =2

87.

(24-C)

(b)

g fix) = log;o(1+x) 8, al
4f(4) + 5f(1) — log,, 2 ToFeh st & 2

(a 0
(b)) 1
(c) 2

d 4

fx) = In (yJx2 +1 - x) g1 TRefia O e f,
2
(a) TH H B
w favm wem
T 3R faww wem i

qﬁmmﬁqﬁﬁw%

(_b)
(c)

(d)

f(x) = log, 10 GRT IRWING %o £ ST &
x> 10

x = 10 Hl BISH, x> 0

(a)

(©)
(d)




84. The sine of the angle between vectors 87.
ST A A — A AL A
a =2i-6j—3kand b =41 +3j-k
is
1
(a) —
J26 3
b
b)) —
J26
)
(c) 2—6'
- 88'
1
d — :
@
85.. What is the value of A for which the vectors
3_? +4?i - ]; and—zji +3u?i +1012 are
perpendicular ? ‘
(a) 1
b) 2 89.
¢ 3
d 4
86. What is the derivative of sec”(tan™" x) with
; respect to x 7
(a) 2x -
b x+1
() =x+1
(d) X2
EDF-S-DGV (25-C)

If fix) =log;o (1 +x), then whatis
4ﬁ4) + 5f(1) — loglo 2 equal to?

(a) O
(b)) 1
(c) 2
d 4

1

A function £ defined by f(x) = In (Jx% +1 - %)
is

(a) an even function

(b) an odd function

(¢) Both even and odd function

(d) Neither even nor odd function

The domain of the function f defined by
fix) = log, 10 is )

(a) x>10
(b) x> 0excluding x =10
(¢ x210

(d) "x>0excludingx=1

3

:]‘jﬂ}) 1——1.:82—?5 is equal to
(a) -0

b 12

(c) 24

(d 36



] 91'

afg A, B, C i TeANd &, df 370 & FHAFH Q
AT % Th WY e hi WEwaT 1 & ?
(a)' PAANB)+PBNC)+P(CNA)

(b)) PANB +PBNC)+PCNA) -
PANBNC)

) PANB +PBNC) + PICNA) -
2PANBNC)

d PANB +PBNC)+PCNA) -
3P(ANBNO)

IR 2 = x o Y & @ 3% i e
TUTTR TR ?

(a) 1

o -1

(- 0

@ 3w A RE

Y @Wax " A 3R B W UHR & &
P(AUB):%:IH'(P(AQB)=%’EI

af} PB) < P(A) %, @ P(B) R wtrar 2 2

@ 3
®» 3
© 3
@ 3
EDF-S-DGV

(b)

(@

(26-C)

94, TH G (100) Y& 1 WA 50 ? IR I

s faee 10 | 3f2 v Jawr # @ 5 e
foam Smar & ai R 3@ 4 @ R W R
ST 8, A T4 WTe 3R T WA fEe A
1M ?

(a) 45,5 .

(b) 11-25,1-25

(€ 11:25,25

(d)  12-5,2-5

e 3§ Froge wrEt # H ST 2, 99 3@ 9@
# wufeera wifwar #= & % vga 9@ W 6
Y, safe 7% far gom R o6 ol w ey et
T IR 8 TR ? |

1
(a) . '§

| -

(c)

o =

| =



91.

If A, B, C are three events, then what is the
probability that at least two of these events
occur together ?

(a) PANB)+PBNC)+P(CNA)

b PANB +PBNC +PCNA) -
PANBNC)

© PANB +PBNC +PCNA) -
2PANBNC)

d PANB +PBNCOC +PCNA) -
3P(ANBNC)

If two variables X and Y are independent, then
what is the correlation coefficient between
them ?

T I |
b -1
@ O

(d) None of the above

Two independent events A and B are such

thatP(A'uB)=%andP(AnB)=%.1f

P(B) < P(A), then what is P(B) equal to ?

1
(9-) I x

1

(b) _ 3

1

(c) E

1

(d) 5

EDF-S-DGV

{#7=€)

The mean of 100 observations is 50 and the
standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively ?

(a) 45,5
(b) 11-25,1-25
(¢) 11-25,2-5

d 125,25

If two fair dice are rolled then what is the
conditional probability that the first dice lands
on 6 given that the sum of numbers on the
diceis 8 ?

(@) %
® %
(c) % | .-
@ <




|

96. oI gufid El #) IS @ 2, YAS 9@ F

"o wifirerar =1 @ f6 @1 W us StEn @ I 2

EDF-S-DGV

3l %A ATd U1 |, & &t U1 ¥, U fid T d
M FH I TR WA I P E | 39 9@

(a —

(b

©|n

@© —

1
(d) 3

: @wﬁngﬁﬁ,ﬁﬂsgﬁmh._

#1 | Al 2 g Igfes w0 & o ot &
aﬂzmmaﬁrmﬁmgzﬁsaﬁgﬁ@

e e o1t €, A o A R R?
@ 3

® 4

¢ b -

d 6

(28-C)

98. A & 52 Ydl HI TH ML | q Tl HI AGH

F9 H G AT 8§ | 59 &1 I WfAehar w1 @
f6 3 qF W = @ g F (T SR) 7 2

(a) —
(by —
(e —

@) =

. Uh YT I 1S G Hebr T & I 3EH 5 A7

6 1 3THET WheAdl HHAT Wl & |msﬁﬁ_

. Pl WEAT 1 W1eq I Wk e A g

16

8
(a) e

(b)

| oo
o | s

(c)

IS
o |

e |

(d)

©o|5




EDF-S-DGV

96. Two symmetric dice flipped with each dice

having two sides painted red, two painted
black, one painted yellow and the other
painted white. What is the probability that

both land on the same colour ?
@ =%
) %
() %
@ %

There are n'éocks in a drawer, of which
3 socks are red. If 2 of the socks are chosen
randomly and the probability that both

selected socks are red is %,thenwhatisthe

value&fn?

(a 3
(b) 4

(€ 5

S 6

Two cards are chosen at random from a de;:k
of 52 playing cards. What is the probability
that both of them have the same value ?

(aﬁ %
®
(c) | % .
@ =

In eight throws of a die, 5 or 6 is considered a
success. The mean and standard deviation of
total number of successes is respectively given
by '

(a) %,l:-
o 34
© %,%
o 48

(29-C) -



1
(a) 'g
1
(b) e
2
(C) g
1
(d) 3
101. Fr=fafes suat W fa=r Hife

1w._amﬁAaﬂthm§ﬁszmﬁtﬁ

e 39as & | 3 PA) = 0-5 3T P(B) = 0-6
8, 9 P(A|B) %1 9 #I1 8 ?

1. HEI % Uh Gg= 61 Ih FH HE |/

fraat & @iy ATea @ Y da  ’

21

2. U wHfid ¥ & fog
U qTEA > WIEYHT > g (M) |

35 Bl 3§ A B T 2
(a) ad 1

(b) FHad 2

(¢ 1323

@ TM1L, A2

102. 7 AR X 3t Y ¥ d9 wewaw TE 06

2 | agfess =z it W T8 wer whonfia &

%Z=X+53ﬁtw=—§-ilzﬁtwaiﬁi '

HEEEY Ui 917 ?
@ 01

® 02

(). 036

@ 06

EDF-S-DGV (30

103. a2 1 3 20 & = F wft g Qi H 3 A
o & e St 2, ot wRomdt 2o @ sar
R ?

(a) 9975
(b) 199:75
(c) 299-25

(d 399-25

.lm.wmﬁmﬁmw%ﬁﬁﬁﬁﬁwww

aafes forg saht aRfy # s 9% ¥ &
st ity & 2 ’ |

! 1
(a) Z
: 1
(b) 3
3

(c) I

@ =& Fraffe T8 frn s g

.105.#I%Aaﬂt_ B weAl & a@ W A weA AW
e BF ufa 89 R wiiksmar | R 2

(@ P(A)+P(®B)
(b) P(AUB)
¢ PANB)

(d P(A) P(B)

=€)



100. A and B are two events such that A and B
are mutually exclusive. If P(A) = 05 and
. P(B) = 0-6, then what is the value of P(A|B) ?
1

(a) 'g
1

(b) 8
2

(c) g
1

d 2

(d) 3

101. Consider the following statements :

1. The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero. -

9.  Arithmetic mean > Median > Mode for a
symmetric distribution.

Which of the above stateménts is/are correct. ?

(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

102. Let the correlation coefficient between X and

Y be 0-6. Random variables Z and W -are

defined as Z = X + 5 and W = % What is the
correlation coefficient between Z and W ?

(a 01

(b). 02

(¢) 036

d 06

EDF-S-DGV

103. If all the natural numbers between 1 and 20

are multiplied by 3, then what is the variance
of the resulting series ?

(@) 9975
(b) 19975
() 259-25 '
@ 39925

What is the probability that an interior point
in a circle is closer to the centre than to the
circumference ?

(a) L
S .
(b) 2
3

(c) Z

(d) It cannot be determined

_If A and B are two events, then what is the
‘probability of occurrence of either event A or
e_ventB? : '

(a) PA)+P@B)

(b) PAUB)
(¢0 PAANB)
(d PAP®B)

_(31'-6) -
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107.

%A ¥ I fir) B | 99 /1) + A2) e
T R ?

(a) 1

(b) 2
(c) 3
d 4
e fix) = 3% R, T fix) fly) fz) FFah wO=R
2?

(a) fix+y+2)

(b) fix+y+z+1)

(c). fix+y+z+2)

. (d fix+y+z+3)

108.

109.

110.

EDF-S-DGV

fir x% + 9x| + 20 = 0 ¥ fo arafaw
el i wen @

(a) YA

(b) TH

© F

@ &=

Mg f(x) = sin (cos x) B, A £'(x) forasd sTa 2 2
(a) cos (cos x)

(b) sin (-sinx)

(¢) (sinx) cos (cos x)

(d) (- sin x) cos (cos x)

HH fx) = J@—x) (x—3) H S R
(a) (0,) '

(b) [0, )

© I[2,3]

@ @23

-

111. 7aeher T %=ms@—x)+1 w5 &

112,

(a) e*[sec(y—x)—tan(y—-x)=c
(b) e*[sec(y—x)+tan(y—x)] =c
() e*sec(y—x) tan(y—x)=c
(d) ex=csetl:(y—x) tan (y — x)

j |sinx —cos x| dx ferEeh ST ® ?
) .
(a)

0
® 2(2-1)
© 242
@ 22 +1

&

118. 3¢ y=acos 2x + bsin 2x B, d

(a) —5 +y=0

a FoE y

b) —+2y=0
P 2y

(c) a-x?-—4y=0

(d) "1—'2'+4y=0
dx

114. g $ T @ T A0 B G A Ao (i

TH AFAHR YR 3R Adgaesr &1l aren)
# oo ¥ | AR Fo g SEed # =Ean
@ W, @ I de B Su W g
Rl &% = @ U T4 g 2

" (a) m:(m+2)

(32-¢)

b)) @+2):m
© 1:1

@ 9w # @ = T



106.

107.

108.

(a) Zero 113.
(b) One
(c) Two
(d) Three
109. If f{x) = sin (cos x), then f'(x) is equal to
(a) cos (cosx)
(b) sin(-sinx)
(¢) (sin x) cos (cos x)
(d) (-sinx) cos' (cos :_t) 114.
110. The domam of the function
fix) = ,}(2—1:) (x-3) is
(a) (0,0
(b) - [0, 0)
e [2,3]
@ (3
EDF-S-DGV (33-C)

For r > 0, flr) is the ratio of perimeter to area
of a circle of radius r. Then f(1) + f{2) is equal
e :

T |
b 2
¢ 3
d 4
If fix) = 3", then f(x)fly) f(z) is equal to

(a) fix+y+2)

(b) _f(x+yj+z+1)
() flx+y+z+2)
(d fix+y+z+3)

The number of real roots for the equation
x> +9|x| +20=0is

111.

112.

(b)

The solution of the differential equation
dy =cos (y—x)+ 1is
dx

(a) e“[sec(y—x)—tan(y—-x)]=c
(b) eSlsec(y—x)+tan (y—x)] =c
(c) e“sec(y—-x) tan(y—x)=c
(d e*=csec(y—x) tan(y-x)

|sin x — cos x| dx is equal to

l:'-———.l\"' | &

(a O
® 22 -1
e 2 J2

@ 2(2+1)

If y =acos 2x + b sin 2x, then

(a) £%+y=0

‘—ii% +2y=0
(c) @-4y=0
(d) %My:q ;

A given quantity of metal is to be cast into a
half cylinder (i.e. with a rectangular base and
semicircular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of the

semicircular ends is

(a) mn:(m+2)
b)) @®+2):m
[ S D |

(d) None of the above
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115.J. e Xcosxdx HE® TR 2
0

(b) e-1
() e+2
(d e

Xx—-2
x+2

116. 3R f(x)= , X # -2 %, 9@ ix)

TR ?

| Ax+2)
(a) -2
X+2

(b) -2

)

(d)

117. I In(x*) dx e sga & 2

(a) . 2xln(x)—2x+cl
‘® 2
X

() 2xlnx)+c

2 In(x)
x

(d)

—-2x+¢

EDF-S-DGV

118. fag (4, 2)A.y” = 8x I 3egam gt freds s
?? 1

(@ 2

b 22
(¢ 2

d - 342

119, y-318 HI qe-ig W oyl %0 T guefen
I HTH aHiwr §

(a) x2+)r2_2xy_3 =0

1z
() # "]_-—
b > +2xy 0
(e) - 2_ __l=”
C X y2+2xy

@ Py _
' xyzzxydxo

' d2 2.
-120.31awmﬁm§x%+2(51] +9y =x %

dx
vk i frerfrfes w Rem Hift -

% mwmzﬁm(ﬁmnal

2. IFC WO R HR (A) 281
s w A A @A
(@) e 1

(b) A 2

(© Nhtz‘a:ﬁ

(@ Fd 1, T2

(34-C)




115.

© S 10 | 2

(@)

(b)

©

(d)

116. If f=r—

esi'“x_cosxdx is equal to

e+1
e-1

e+2

x-2
+2’

equal to ?

(a)
(b)
(c)

(d

4(x +2)
x—2
x+2
4(x + 2)

x+2
x-2

21+x)
1-x

117. What is I In(x?) dx equal to?

(a)
(b)
(c)

(d)

2xIn(x)-2x +¢

2
= +c
X

2xIn(x) + ¢

2 In(x)
=t

-2x+c

ED#—S—DGV

X # —2, thén what is f_l(x)

(35-C)

118.

119.

120.

The minimum distance from the point (4, 2) to
y? = 8x is equal to

(@) 2

® 2v2

© 2

@ 32

The differential equation of the system of

circles touching the y-axis at the origin is
2 dy
= =220
(a) x"+ y2 2xy

2 dy _
b) x +y2+2xydx =0

4

© x2—y2+2;y% S

@ xz—yz—ny%=0

Consider the following in respect of the
differential ét;uatidn‘_: /
2 2
o

1.  The degree of fhe differential equation

is 1.

2. The order of the differential equation
is 2. i

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2pnly

(©)  Both1and 2

(d) Neither 1 nor 2
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